
2 + 4 + 7 + 8 + 3 + 3 = 27

𝑥̅ =
2 × 152 + 4 × 157 + 7 × 162 + 8 × 167 + 3 × 172 + 3 × 177

27
=

4449

27
≈ 164,8

164,8 𝑐𝑚

Taille [150 ; 155[ [155 ; 160[ [160 ; 165[ [165 ; 170[ [170 ; 175[ [175 ; 180[ 
Intervalle 
centré 𝑥𝑖 

152 157     

Effectif 𝑛𝑖 2 4 7 8 3 3 

Fréquence 
en %       

 

Taille [150 ; 155[ [155 ; 160[ [160 ; 165[ [165 ; 170[ [170 ; 175[ [175 ; 180[ 

Effectif 𝑛𝑖 2 4 7 8 3 3 

Fréquence 
en % 

2

27
 

≈ 0,07 = 7% 

15 % 26 % 30 % 11 % 11 % 

 

Intervalle 
centré 𝑥𝑖 

152 157 162 167 172 177 

Effectif 𝑛𝑖 2 4 7 8 3 3 

 


